[ Efficiency vs vertpos |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015

O
0.?)55 t+#+++++i ........... ......... *

1.0

T T T T TR
-

&

4

4

0.95 : : :
1072 107 1 10 10?

—=— DQM_TT__mkFit_

Efficienq —— pom_TT__mkFit_BDT_

0.05
0.045
0.04
0.035

........................

Tt

METENETE EETET A BT AT AT A AN AT BT A A AR
E . 4 B

o

©

(Tl =

TTTT[TTTIT[TIT I TTTT
+
> <
T

—

10 20 30

[ Efficiency vs. sim PV z |
0.02

S SIENE BT T
05T SRR O JOURU SRS SRR SRR SO
0.014
0.012
0.01F
0.008F
0.006F
0.004F
0.002f

1.0




	Contents
	Page 1


